Q9233-OOB-H R(@\

185 1/5

Q/D & DWS MKII (MCLANAHAND

/

K L _'

19233-007

19233 GR

186 1/4

1 9233-00&5

19233-003-H RO@

VD 1& DWS MKII (MCLANAHAND

Q/D | & DWS MKII (MCLANAHAN)

\v/

AV,

Q/D & DWS MKII (MCLANAHAND

Q/D & DWS MKII (MCLANAHAN)

19233-007

[OXTEXIBXI |

19233-0056

33 3/&—

| . |
19233-00| 74\

57 5/16

22.5°

24 3/4—+]

Ay

~ 63 3/4 -

PCS MK - 19233

6' DWS STRUCTUTRE, DISCHARGE CHUTE, UNDERPAN
SCALE /2" = |'-0O"

N
I
009
15; [ ) [ ) [ ) [ ) [ )
(15) 2
s (19)
)
Ql o ’
O [ ‘.
N °
°
°
°
° —_— —_— —_—
0

19233-00 |

o]

- 95 -

1 9233-006

\69233-003-%09

19233-002

BILL OF MATERIAL O
ITEM | QTY PCS MK DESCRIPTION
x 1 19233-00 | AGG. SPECIALISTS, STRUCTURE 5
2 2 19233-002 AGG. SPECIALIST, WALKWAY =
3 2 19233-003-HRO| |HANDRIAL. O =
4 4 | 19233-003-HRO2 [HANDRIAL, 02 oo~
5 2 1 9233-005 LADDER, AGG, SPECIALIST, 24" WIDE .
G 1 19233-007 DISCHARGE CHUTE, AGG, SPECIALIST é —
7 l 1 9233-008 DWS UNDERPAN, AGG, SPECIALIST,
8 1 VD18 DWS MKIl  |DEWATERING SCREEN, VD 18 MKII, MCLANAHAN
(MCLANAHAN)
9 3 19233 GR BAR GRATING, | 68'X36'X | 1/2"
o | 16 BOLT, HEX, 3/4"' X 3.5" LG, UNC, A325
| 36 BOLT, HEX, 3/4" X 2.5" LG, UNC, A325
2 | 24 BOLT, HEX, 1/2" X 2.25" LG, UNC, A325
13 | 104 WASHER, FLAT, 3/4 - narrow - Type A <Z(
4 | 24 WASHER, BEVEL, 1/2" 0o
5 8 WASHER, LOCK, 3/4" % .
c | 22 WASHER, SQRT, 3/4" O | &
17 | 24 WASHER, FLAT, 1/2 - wide - Type A Z | 5|
& | 24 WASHER, SQRT, 1/2" - | oW
9 | 52 NUT. HEX, 3/4", UNC, A325 S ge
20 | 24 NUT, HEX, [/2", UNC, A325 gl B B
RN I u_l_l
T
G |:|¥
o~ N9
|_
| =15 |2
~ =0
O —
8 - 5
< 2 2
o | 32 i
| 52 [2.2
wi | 22 |32
W/ oB |3z2f
— a) eI
19233-002 ) 8528
= 2253
ER
o | B [
| 5 |esiis
O | Fg izt
9 EFecs
=
i O é’é%%é
= - E5=89
0| © |25
C ® |
o | ® — |9
1IFIEEE
OIS QS|
z|Q | Q@ N
oS|I N | =
=
Z s .
T
Z z .
SAEIEIE
| < | <] O
O] O (O IO ()
a u
28,2 &
ESQ90°F ¢35
SR, F=
PSR Y- EJ
S8r0p% B3
500285 3%
s@beTg TE
| < )
[} =) Iy
—l/'-'D-'\= o g
odef 58
08055+ 7835
sB5E smEgis
URx®e Too
SUET 7=
s ¥
LLI
—
:' % o £
>E2 8§,
@ m o v
X Oc55FnE
N N 2L < WEAhT
g} C Lg=s 23S
n m 23888
QER 853
> = g =
LLl T
L
Jp )
p)
LLl
ol
! Q




Q ¢cd0 ¢ _ m m N m _ AdOD ¥0 3OS LON 0Q) .zo_EN_mo_._%a_%Mwhmmw_\/zm%%:_%ﬁmowmwmm Ol =2/l | VoS
TIVHS ONIMVYYHA SIHL 40 NOILYOd ON .._.wm_w_m_._.z_.w__MI._. OL TVIN3INIEL3A , 0-o1 |\+ ALTIVINONY
‘ON 1HS AR “"ON 9N 103rans sl ob«ﬁ»ﬁﬂwwmwwwww_%ﬁwﬂz“_w mw_um_wﬁ_\u,_mhn_m__,__ﬁkw/*_ H_,_/_\mnm__mm_mw 6l ON\m | \N | 41vd JALLYINWND-NON 2€E/T -/+ wodssadoldaunidaummm
DM@/\MI_MM o o9 JALLYINWND-NON Ww T -/+ ”mmmkz\mu I10H 9680-0£5-G19 :BUOUd
: :S¥3LNID I10H 10°0 -/+ XXX° :
SNLV1S ONIMYYAd NOLLD3CO¥d _U @ 20°0 -/+ XX G/0LE NL ‘a]|IAU0SI9pUSH m mm u c _.— .—. ﬂ m z
9 -/+ SQYYMdN 00k T0-/+ X 0053 21nS
scewq| @' 2 |72 LHOIAM 31v3S LON 0d TNV GuIHL 6102/e/L J1vd €8 '7'T sTavL 319VDI1ddY LON "33 - X Ald MOy oide
359V0D-D SV 8/T -/+ :A19W3SSY PAId MOY S|dEIN TET
. . obuddoos A NMYYA | £66T 1-89/72 N3 . L9T/T -/+ :NOLLYDTHEV v SYILIVNOAYIH ATIOM
‘ Q3LON 3SIMYIHLO SSTINN Q3LON 3SIMYIHLO SSTINN
NVJAIANM JLAHD F9AVHOSIA JIHLNLONH1LSE eMd (O SN ‘STONVIITOL rmant sowezor | 3 1T TTANOSHIANIH
ST O4NI ONIMVAd
6O |
G6

L%
N

l6X @1 THRU

5 1/4

L —o

s

Fan
J
N

U

o
A\

o
A\

o -
A\
o
A\
|
|
|
|
|

v/l S -

126 1/2

140 1/2

o
U

19233-00 |

SECTION A-A

SCALE |

'/2” — ' I_OII




